13E

14A
1) on the graph
2) on the graph 1) (4,-2)
3) (3,3)
4 2=5+b, b=-3
2) (Y+6)+3Y=-2
5 Y=X-3, X-Y=3 4Y=-8, Y=-2
line b
\ -
— line a 3) X=-2+6=4
1 X=4
: -
<« > X
4
A
6) - 4-5 - -1 - 1 4) (3,-2)
1-3 2 2 )
7) 4=1/2(1)+b, b=31/2

8) Y=1/2X+7/2, X-2Y=-7 5) 2(7+2Y)+3Y=0
' 14 +4Y +3Y=0

9) m=5/4 _
-2 =5/4(-2) + b 13 + _7\7(Y_ 0
2=-52+b, 1/2=b =

Y=-2
10) Y=5/4X+1/2, -5X+4Y =2 or 5X-4Y=-2

11) 3Q+7+2Q-5-4Q=-Q+1+4+Q

Q+2=5 Q=3 6) 2X+8(-2)=0

12) T+4+8T-6-2T=2T +5-4T-1+2T g§;%=o
2T-2=4, 2T=6, T=3 X=_3

13) -2.8P +.06P =5.72
-280P + 6P =572
-274P =572, P =-572/274 Reduced: -2 12/137

14) 32Y-8Y = -36 7) (4,3)
24Y =-36
Y = -36/24 = -3/2

15) 033/4X-.75=0 8 Rt 1D
3(3/4)X - 75 = 0 5X=20
9/4X =75 BX=
X = 75(4/9) = 300/9 = 100/3 = 33.33 =

16) 42/3+31/3X=-3
14/3 +10/3X =-3, 144+10X=-9 9) Y=2(4)-5
10X =-23, X=-23/10 ¥=g-5

17) 8:20 to 2:40 is 6 1/3 hours
335+19/3=335x3/ 19=
52.9 miles/hour (rounded)

18) 335 + 13.4 = 25 mpg

19) XD, XE, XF (X timesnext letter in alphabet) 10) 28= 20 0l = ot
X=5

20) 4.75,5, 5.25,5.5,5.75 (add .25 each time) -
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14B

4) (5, 6)

5) Y=-X+11
X=-Y+11
2(-Y+11)-Y=4
2Y+22-Y=4
-3Y =-18
Y=6

@
-

=-X+11
5=-X

[¢)]

7) (1,-3)

8) Y=-2(-1/3Y)-1
Y = 2/3Y - 1
1/3Y = -1
Y=-

9) -3=-3(X
) 32300

10)  2X +3(5X - 30) = 29
2X + 15X - 90 = 29
17X = 119
X = 119117
X=7

5(7) -Y =30
35-Y =30
Y=5

(7,9)

A

14C 14D

1) 3,4) 1) (-4,-2)
2) X+1=2%X-2 2) 2X+6=-X-6
) S:X 3X=-12, X=-4
3) Y=3+1=4 3) ‘4+Y=-6, Y=-2
4 (1,3 4) (:3,-2)
5) X+4=-2X+1 5) X-5=2X+4
=3, X=-1 -8X=9, X=-3
line d line ¢ n;e lnea ine a line d
Y /
/
7 /
< X N ol
N
- /7
line b line c
6) Y-(-1)=4, Y+1=4, Y=3 6 Y-3=-5 Y=-2
3-5 -2 2 4-0  _.
7 = = = 7) =
) M T T2-0
8) 83=2/3(1)+b, 3-2/3=b, 21/3=b, b=7/3 8) 0=-2(0)+b, 0=b
9) Y=2/BX+7/3, 2X-3Y=-7 9) Y=-2X iaxw:o
10) m=-4/3 10) m =+ 3/4 o
1) 2=-4/3(2)+b, 2=-8/3+b 11)

b=2+8/3, b=42/3

12) Y =-4/3X +42/3 12) Y=

Y =-4/3X +14/3, 4X+3Y =14
13) 1,4,9,16, 25,36, 49, 64, 81, 100,
121, 144, 169, 196, 525
12, 22, 32, 42, 52, 62, 72, 82, 92, 102,
112,122, 132, 142, 152
14) 820 miles ) 8
15) 820 + 50 =16.4 hours, 16+ 4/10, 16 +24/60 9 3
16:24 + 7:35 = 23:59, 11:59 PM

16) 820 + 25 = 32.8 gallons,
32.8 x 1.269 = $41.62

13)

2=3/42)+b, 2=6/4+b
2-32=b, b=1/2

+12, 3X-4Y=-2

1,4,9, 16, 25, 36, 49, 64, 81, 100,

121, 144, 169, 196, 225

12,22, 32, 42, 52 62, 72, 82, 92, 102,
112,122, 132, 142, 152

80 miles

80 + 50 = 7.6 hours, 7 +6/10, 7 + 36/60

7:36 +6:14 =13:50, 1:50 PM

16) 380 + 25 =15.2 gallons,
15.2x1.199 = $18.22

17) .923 17) 321

18) 2A2 - A2 4 3A
19) Prime 19) 5
20) 12 20) 8

18) A+3B-9=2C

x87, 5x3x29
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10)

11)

12)

13)

14)
15)

16)

17)
18)
19)

20)

=-3/4(-1) +b
1=384+b
1/4=b

Y =-3/4X +1/4
3X+4Y =1

Y =3/5X - 1/5
3X-5Y =1

1,4,9, 16, 25, 36, 49, 64, 81, 100, 121, 144, 169, 196, 225
12,22 32 42 52 2 72 82 92 102,112,122, 132, 142, 152

804 miles

804 + 50 =16.08 hours, 16 +8/100, 16 +5/60
16:05 + 4:42 = 20:47, 8:47 PM

804 = 25 = 32.16 gallons,
(32.16)(1.289) = $41.45

.368
9/10 = 90/100 = 90%

o

3)

9)

10)

15A

('31 2)

S

>

<<
o |0
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<<
i
ot

(0, 6)
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